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Multiplizieren mit Variablen 

Lösungsblatt 

Level  I : 
 

1. 𝑎3 ∙ 𝑎2 = 𝒂𝟓 6. 3𝑓3 ∙ 4𝑓4 = 𝟏𝟐𝒇𝟕 

2. 𝑏3 ∙ 𝑏 = 𝒃𝟒 7. 2𝑔5 ∙ 7𝑔2 = 𝟏𝟒𝒈𝟕 

3. 𝑐5 ∙ 𝑐4 = 𝒄𝟗 8. 4ℎ2 ∙ ℎ3 ∙ 5ℎ5 = 𝟐𝟎𝒉𝟏𝟎 

4. 𝑑2 ∙ 𝑑4 ∙ 𝑑2 = 𝒅𝟖 9. 3𝑖 ∙ 2𝑖 ∙ 6𝑖3 = 𝟑𝟔𝒊𝟓 

5. 𝑒2 ∙ 𝑒3 ∙ 𝑒2 ∙ 𝑒 = 𝒆𝟖 10. 10𝑗3 ∙ 𝑗3 ∙ 6𝑗2 ∙ 𝑗 = 𝟔𝟎𝒋𝟗 

 

Level  II : 
 

1. (−2𝑎4) ∙ 3𝑎2 = −𝟔𝒂𝟔 6. (−3𝑓3) ∙ 5𝑔2 = −𝟏𝟓𝒇𝟑𝒈𝟐 

2. (−9𝑏) ∙ (−5𝑏3) = 𝟒𝟓𝒃𝟒 7. 2ℎ2𝑖3 ∙ (−5ℎ3) = −𝟏𝟎𝒉𝟓𝒊𝟑 

3. (−2𝑐2) ∙ (−6𝑐3) ∙ 5𝑐2 = 𝟔𝟎𝒄𝟕 8. (−4𝑗2) ∙ 6𝑘3 ∙ (−4𝑗5) = 𝟒𝟖𝒋𝟕𝒌𝟑 

4. 4𝑑2 ∙ (−3𝑑4) ∙ 2𝑑 = −𝟐𝟒𝒅𝟕 9. 3𝑚𝑛 ∙ (−2𝑚3) ∙ 6𝑚𝑛 = −𝟑𝟔𝒎𝟓𝒏𝟐 

5. (−2𝑒2) ∙ (−2𝑒2) ∙ 𝑒 ∙ (−3𝑒3) = −𝟏𝟐𝒆𝟖 10. 𝑟 ∙ 𝑠 ∙ (−2𝑟3) ∙ 5𝑠 = −𝟏𝟎𝒓𝟒𝒔𝟐 

 

Level  III : 
 

1. (−2, 5𝑎3) ∙ 6𝑎4 = −𝟏𝟓𝒂𝟕 6. (−3,2𝑓3) ∙ 0,6𝑓4 = −𝟏, 𝟗𝟐𝒇𝟕 

2. (−5𝑏2) ∙ (−0,9𝑏) = 𝟒, 𝟓𝒃𝟑 7. (−4,2𝑔2) ∙ (−2,2𝑔) = 𝟗, 𝟐𝟒𝒈𝟒 

3. 1,5𝑐3 ∙ (−6𝑐2) ∙ 2𝑒 = −𝟏𝟖𝒄𝟔 8. (−2,1ℎ3) ∙ ℎ2 ∙ (−1,5ℎ) = 𝟑, 𝟏𝟓𝒉𝟔 

4. (−0,5𝑑) ∙ (−4,2𝑑2) ∙ 10𝑑3 = −𝟐𝟏𝒅𝟔 9. 1,4𝑟4 ∙ (−1,2𝑠2) ∙ 4𝑟𝑠 = −𝟔, 𝟕𝟐𝒓𝟓𝒔𝟑 

5. 𝑒 ∙ (−2,5𝑒) ∙ (−𝑒2) ∙ (−3𝑒4) = −𝟕, 𝟓𝒆𝟖 10. 0,9𝑎𝑏 ∙ (−8𝑎𝑏) ∙ 0,5𝑎2𝑏3 = −𝟑, 𝟔𝒂𝟒𝒃𝟓 

 

Lösungen : 
 

−6𝑎6 4,5𝑏3 −15𝑓3𝑔2 14𝑔7 60𝑐7 𝑎5 −21𝑑6 12𝑓7 −10ℎ5𝑖3 𝑑8 

−3,6𝑎4𝑏5 60𝑗9 𝑒8 48𝑗7𝑘3 −24𝑑7 −18𝑐6 36𝑖5 9,24𝑔4 45𝑏4 −6,72𝑟5𝑠3 

𝑏4 −1,92𝑓7 −36𝑚5𝑛2 3,15ℎ6 20ℎ10 −12𝑒8 −7,5𝑒8 −10𝑟4𝑠2 𝑐9 −15𝑎7 
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